Exercise 1:

// BT (BT ID, #%4, Wi, Hiik)
CREATE TABLE employee(

/] #3& (ID, &2, W&, #i%)
CREATE TABLE book(

emp_id char(5) NOT NULL, book_id char(6) NOT NULL,
emp_name varchar(20), book_name varchar(60),
position char(20), amount int,

address varchar(50), price numeric(10,3),
PRIMARY KEY (emp_id) PRIMARY KEY (book_id)

) );

/I && (ID, %4, EER, IRL)
CREATE TABLE member(

// f&&zs% (ID, BT ID, &k, & ID, &8, HE)
CREATE TABLE loan_transaction(

member_id char(5), loan_id char(4),
member_name varchar(50), emp_id char(5) NOT NULL,
major char(20), book_id char(6) NOT NULL,
status char(10), member_id char(5),
PRIMARY KEY (member_id) loan_duration integer,
); loan_date date,

PRIMARY KEY (loan_id)

);

Exercise 2 :

A. Insert data into tables like below: #fi AL &

Table Name: employee = T

emp_id Emp_name position Address
Emp01 Data Entry Jurong 12
Emp02 Bill Pasir Ris 23
Emp03 Chen Librarian Suntec 34
Table Name: book
Book_id book_name amount Price
Bk01 15 $45
Bk02 Database 3 $50
Bk03 Hardware 27 $55
Table Name: member & &
member_id member_name major Status
mb01 Ramesh Lecturer
mb02 John Information Systems Lecturer
mb03 Enya Arts Lecturer




Table Name: loan_transaction (& (22 7)) 4%

Loan_id |Emp_id | Book_id | Member_id | duration |Loan_date

Al12B empO03 bk01 mbO01 4 2004/02/14
C23F emp02 bk02 mb02 15 2003/11/08
D45T emp01 bk03 mb03 2 2002/03/27
A32R empO01 bk03 mb04 11 2002/08/09

B. ®@r&kt: &1 Bill (Bkfiz=Librarian, uf="")

emp_id | Emp_name | position Address

Emp01 Data Entry | Jurong 12

Emp02 Bill Librarian

Emp03 Chen Librarian Suntec 34

FErEkh fEEsCsk C23F nuf i HiMs 2003/01/18

Loan_id Emp_id Book_id Member_id | duration Loan_date
A12B emp03 bk01 mbO01 4 2004/02/14
C23F emp02 bk02 mb02 15 2003/01/18
D45T empO01 bk03 mbO03 2 2002/03/27
A32R empO01 bk03 mb04 11 2002/08/09
SOERE: 2 A EmayEIESCR bk02

Loan_id Emp_id Book_id Member_id | duration Loan_date
Al12B emp03 bk02 mb01 4 2004/02/14
C23F emp02 bk02 mb02 15 2003/01/18
D45T emp01 bk03 mb03 2 2002/03/27
A32R emp01 bk03 mb04 11 2002/08/09

C. Delete record which loan_duration is smaller or equal to 10 at loan_transaction

table. fiflFracek: = 01<10

Loan_id Emp_id Book_id Member_id | duration Loan_date

AL2B empi3 BkB2 AAicASE 3 4 2060462444
C23F emp02 bk02 mb02 15 2003/01/18
B45+ empot kB3 mbo3 2 2002/63/27
A32R empO01 bk03 mb04 11 2002/08/09

Delete record which the year of loan_date is smaller than 2003. {iflf 2003 FLL

AIHIFTA fif




Loan_id Emp_id Book_id Member_id | duration Loan_date
C23F emp02 bk02 mb02 15 2003/01/18
ASFZR empOt b3 mbo4 +t 2002/68/69

D. Alter Table H X FEr845HS

Add one column 'telephone' at employee table which data type is char and field

size is 15. #igig'telephone' (375,15 &Fot)

emp_id Emp_name position Address Telephone
EmpO1 Data Entry Jurong 12 NULL
Emp02 Bill Librarian NULL
Emp03 Chen Librarian Suntec 34 NULL

E. Drop the table of loan_transaction f[RERFERS

SQL Exercises/The warehouse &8

/] EE (RS, A&

CREATE TABLE Warehouses (

Code INTEGER PRIMARY KEY NOT NULL,
Location VARCHAR(255) NOT NULL ,
Capacity INTEGER NOT NULL

)

/] BFE(RH, BT, HE ER)
CREATE TABLE Boxes (

Code VARCHAR(255) PRIMARY KEY NOT NULL,
Contents VARCHAR(255) NOT NULL ,

Value REAL NOT NULL,
Warehouse INTEGER NOT NULL

)

Sample dataset

INSERT INTO Warehouses VALUES
(1,'Chicago’,3),

(2,'Chicago',4),

(3,'New York',7),

(4,'Los Angeles',2),

(5,'San Francisco',8);

('OMN7','Rocks',180,3),
('4H8P','Rocks',250,1),
('4RT3','Scissors',190,4),
('7G3H','Rocks',200,1),
('8IJN6','Papers',75,1),
('8yeU’,'Papers’,50,3),
('9J6F','Papers',175,2),
('LLO8','Rocks',140,4),
('POH6','Scissors',125,1),
('"P2T6','Scissors',150,2),
("TUS5','Papers',90,4);

INSERT INTO Boxes VALUES

Exercises 3
1. Select all warehouses. &&
SELECT

2. Select all boxes with a value {E{g larger than $150.

SELECT




3. Select all distinct contents &A% in all the boxes f 2.

SELECT

4. Select the average value ‘15 {E of all the boxes .

SELECT

5. Select the warehouse code and the average value of the boxes in each
warehouse. E{EEEIEIEPIEE

SELECT

6. Same as previous [5] |- exercise, but select only those warehouses where the
average value ‘FH5E{E(>150) of the boxes is greater than 150.

SELECT

7. Select the code of each box, along with the name of the city the box is located
in.FEA%E(ER) KEEESTE

SELECT

8. Select the warehouse codes, along with the number of boxes in each
warehouse. E{EHEEKEHEEF

/* Not taking into account empty warehouses ~HfEZEE */

SELECT/* Taking into account empty warehouses HfiZ=g */

SELECT

9. Select the codes of all warehouses that are saturated ¢if1 (a warehouse is
saturated if the number of boxes in it is larger than the warehouse's capacity).
N =EREHE>ERAE

SELECT

10. Select the codes of all the boxes located in Chicago. FiAZIIEEE
SELECT

11. Create 717 a new warehouse #&2& in New York with a capacity for 3 boxes.
INSERT

12. Create ZE17 a new box #rH 2, with code "H5RT", containing "Papers" with a
value of $200, and located in warehouse 2.

INSERT

13. Reduce the value of all boxes by 15%. frEEFEEEEK/D 15%

UPDATE

14. Apply a 20% value reduction to boxes with a value larger than the average
value of all the boxes. ®ZHEESFIE - RHEEBD 20%

UPDATE

15. Remove all boxes with a value lower than $100. #[x/052$100 AyEZE
DELETE

16. Remove all boxes from saturated warehouses. #=53% S & TR - FERFTrE E3
DELETE



